
1) Find perimeter of 
square having each side 
(s) equals 32 m

Answer: ____________

2) Round 27.03 to 1 significant figures.

Answer: ____________

3) 100 - 90

Answer: ____________

4) Find perimeter of 
square having each side 
(s) equals 51 in

Answer: ____________

5) (5 x 21) + (7 x 59)

Answer: ____________

6) Find the median of the following set of data:

40, 7, 36

Answer: ____________

7) 71.3 + 74

Answer: ____________

8) Convert the following fraction into a 
mixed number: 7/1

Answer: ____________

9) Increase 252 by 1/36

Answer: ____________

10) 17.8 x 3.9

Answer: ____________

11) 24/10 x 55/6

Answer: ____________

12) An amount was increased by 6% to 
$178.00. Find the original amount.

Answer: ____________

13) Convert the following fraction into a 
mixed number: 14/7

Answer: ____________

14) $287.00 earning 2% compound 
interest for 10 years.

Answer: ____________

15)
19  Find Volume of 
                         Square Pyramid 

18
18

Answer: ____________
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16) 84 - 50

Answer: ____________

17) Find the median of the following set of data:

26, 27

Answer: ____________

18) 52.2 + 10.3

Answer: ____________

19) Decrease 44 by 50%

Answer: ____________

20) Decrease 44 by 50%

Answer: ____________

Total: ___ / 20
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Answers:

1) 128m 2) 30 3) 10 4) 204in 5) 13671885 6) 7 7) 145.3

8) 7 9) 259 10) 69.42 11) 14 12) $167.92 13) 2 14) $349.85

15) 2052 16) 34 17) 26.5 18) 62.5 19) 22 20) 22
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